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Grade 4 Math Worksheet: Addition (Difficulty Level: Intermediate)

Name:
Date:

Part 1: Multi-Digit Addition
Add the following numbers:

8,341 + 1,635 =
4,763 + 3,215 =
7,864 + 1,132 =
5,127 + 2,661 =
6,540 + 1,320 =

o=

Part 2: Multi-Digit Addition
Add the following numbers, showing the carry-over steps:

5,643 + 6,789 =
8,512 + 7,431 =
9,428 + 6,765 =
4,372 + 8,617 =
3,689 + 7,492 =

o=

Part 3: Word Problems
Solve the following word problems:

1. A baker bakes 4,638 cupcakes on Monday and 3,528 cupcakes on Tuesday.
How many cupcakes did the baker bake in total?

2. A farmer planted 2,436 apple trees in the spring and 3,718 apple trees in the fall.
How many apple trees did the farmer plant in total?
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3. A school has 3,872 students. It received 1,592 new students this year. How many
students are there in the school now?

Bonus Challenge

1. A factory made 12,634 toys in January and 9,237 toys in February. How many
toys did the factory make in total?
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